G OBI Intelligent Designs 2000 Corp.

RAGHKS Denver, Colorado 80211

www. GOBIRA CKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

The rack must be inspected before each use to make certain attachments are
secure, and for evidence of wear.  Misuse of the rack or failure to ohserve the
ma nufacturer's instructions as to installation, proper Attachment and
maintenance will void warranties that may be implied by law.

TOOLS REQUIRED FOR INSTALTLATION:

1- 8mm socket with 6" extension (bumper end cap)

1- 15mm socket 3/8'' drive (rear mud guard bracket)

1- 16mm socket 3/8" drive (inside door hinge bolt)

1- 13mm box or open end wrench (windshield hinge bolt)

1- 3/4" socket and 3/4" box end or adjustable wrench (rear
support bars)

1- 9/16" socket 3/8" drive with 10" extension

1-1/2" box or open end wrench (rear lower and upper isolators)

1- 9/16" box or open end wrench (front roof rack screws and
support towers)

1- Torx bit (T-40) front cowling side covers
1- Smm Allen wrench (front lower light bar cover plate)

1- 3/16" Allen wrench (front lower light bar Gobi logo
support bracket)

CAUTION

USE ANTI-SEIZE LUBRICANT
ON ALL SCREWS

NOTE: PAY SPECTAL ATTENTION TO RED HIGHLIGHTED INSTRUCTIONS

Installation Instructions for  GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK rerrwo. GITLAERRL | sHEET 1 oF 26




G OBI Intelligent Designs 2000 Corp.

RACKS Demver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Cuidelines:

Whet uging Load Carriers and Accessories, the user must understand the precautions. The points isted below
will azsist wou in using the rack fearter system and will encoarage safety,

# For quality fits and safty, use ondy the recommended rack or accessory. Do not assume an accessory will fit,
alwrays check with dealer when obtaining new accessories. Use only approved accessories on load carriers,
Uzitiz other brands will woid ywour wartentsy.

# Mlake sure all knobs, bolts, screws, straps, and locks are finmly attached, tightened and locked before every trip.
Knohs, bolts, serews, straps, and locks must be perodically inspected for signs of weat, corrosion, and fatioue.
Check ywour load at stops during the trip to insure contited fastening security.

# Checklocal and state laws governing projection of objects heyound the width of a wehicle. Be aware of the
widih and height of vour cargo since low clearance branches, bridges, and parking garages can affect the load
&1 cargo will affect the weldcle's diiving behavior. MNever diiwve with any lock, know, or rack in an open o
urdocked position.  Alllong loads such as, but not limited to sallboards, surfhoards, kayaks, canoes, and
lumiber must be tied down front and rear to the bumpers or tow hooks, of the wehicle.

# Femove ywout rack accessories when they are not in use, before intering car washes, prior to taking in your
welicle for service, and whenever clearanice may be an issue.

o A1 locks must be turned and moved periodically to insure smooth operation. Use graphite or similar dey
lubzicant to help this. Locks are designed to deter vandalism and theft. FRemowe valuable gear if ywour
vehicle is unattended for an extended period. Place at least one key in the glove compattment.

& For safety to sour vehicle and rack systen, obey all posted speed limdts and traffic cautions. Adapt your
speed to the conditions of the road and the load being carried.

# [0 not use load carriers and acceszories for purposes other than those for which they were designed. Do not
exc eed their carrying capacity.

# Corsult with wour dealer if vou have any questions regarding the operations and hmats of this product.
Eewriewr all instnactions carefiully.

RFEAD ALL INSTRUCTIONS PRIOR TO INSTALLATION

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR. ROOF RACK rarrwo. GITLAERR1 | SHEET 2 OF 26




Intellirent Designs 2000 Coxp.
Denver, Colorado 80211
wunw, GOBIRACKS.com

GOBI

RACHS

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Included in kat
Letter Description Location Quantity
A GOEI JEEP L 4e 2 & 4 DOOR ROOF RACK GEN 1 Main box 1
B GOEI JEEP JL 4E STEALTH FRONT LIGHT BAR Strapped to Rack ]
C GOEI JEEP JL SKY 1 REAR. RACK SUPPORTS PASSENGER. AND DRIVER. | Strapped to Rack 1ea
D REAR BEACK SUPPORT TOWERS PASSENGER AND DRIVER Hardweare Box 1ea
E REAR TOWER SUPFORT PLATES PASSENGER. AND DRIVER Hardwrare Box 1 ea.
F GOEI HINGE BEACKET AND BODY PANEL STEAFP PASE ANDDRIVER BAG #2 1ea
G GOBI LIGHT EAR COVER PLATES PASSENGER. AND DRIVER Hardwrare Box 1 ea
GORBI FACKE MOUNTING HARDYWARE
CONTENTS:
4- Black nylon shoulder washer 3-3/16-18 x 3/4" Button head screw 55
4-1/2" Flat washer 55 2-3/16-18 x 1" Button head screw 88
L " ; 4-1I8 x 40mm Button head screw 53
2-12" x2-1/2" hex head screw 58 : X
H 3 1/2" Nylock mut S8 4 B_l:aI:lelalu:mn_um spacers (Baz=3a) BACG #1
; i : 16- 3/16" Flat washers 85 1
8- 3/8-16 x 1-1/4" hex head screw 55 o e : Hardwrare Box
38 3/%" Flat washer §§ 4- 5/16" Thick flat washers 55
b e s 5 5/16" Nylock nuts $8
Al e Mlockul S 4-5/16" Lock washer S8
4-3/8-16x 1" Camage screw 55 4- Rear support bar position plar55—[5§5:§:j
8-3/8-16x 1-1/4" Camage screw 53 | Packet Anti-zeize lubricant ®)
GOBIISOLATOR HARDWARE PLATES P D
CONTENTS: 2 Black rectangular adhesive backed isolator wear
plates Passenger and Driver u ‘
I (place on vehicle rear body pansel undar mbber isolators) BAG #4 1
2- Black hardtop wear plates passenger and driver Hardware Box
(place on vehicle hard top under upper rubber izolators)
2- Bound brown adhesive backed wearpads ——@ @
2-Black 1/8" £ 1" x 1/2" black adhesive backed pads —m m

G

.

Dhiver

o

BAGH2 BAG#3 BAG#H4 Fig.

R T

Passenger

éﬁj'xﬂ f’%

F

Pinch plate (¥} as shown on page 14

53. Position angles dovmn.

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK

rerr o GITLAEER1

SHEET 3 oF 26




G OBI Intellizent Derigne 2000 Corp.
Denver, Colorado 80211

RACHKS wuw, GOBIRACKS.com

GOBI JEEP JL 4¢ 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

L] 1]

Qty. 4| 3/8-16% 1"

GENUINE ACCESSORIES

Oty. 2]1/2-13 % 2-1/2"Hex Head Screw 55
Oy, 3| 5/16-8 x 3/4" Button Head Screw 55
Qty, 2] 5/16-8x 1" Button Head Screw S8
Qty. 4| M8 x 40mm Button Head Screw 55

= 2
o
§ T um

(Ta 1
& w
= 2
S 3
x X
:: -
e B
o @
@ - Qty. 4| 1/2"Flat Washer 55 Qty. 28| 3/8"Flat Washer 55
s :
ﬂf 5
=
cr @ @ @

Qty. 4 | Black Aluminum Oty.16| 5/16" Flat Qty. 4 | 5/16" Thick .
. 4| 516" Lock Washer 55
Spacer Washer 55 Flat Washer 55 ity 4] e A

©

Qty. 4| Black Nylon Shoulder Washer  Qty. 2| 1/2"Nylock Nuts 55 Qty.20 | 3/8"Nylock Nuts 85 Oty. 5|5/16" Nylock Muts 55

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK parrwo. GITLAERR1 | suEET 4 oF 26




G OBI Intelligent Designs 2000 Cop.

Denver, Colorado 20211
RACHKS www. COBIRACKS. com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 1

Use a #40 Torx bit and remove the 4
outside cowling cover screws as
shown in Fig. 1 and Fig. 2.

vling cove

SCTEWS

il -
I »
. Con
j L
| 4
| £
N

Fig. 2

‘While lifting slightly on cowling (B) to
expose hinge screw (A) slide a 13mm
box end wrench over the outside hinge
screw (A) and loosen. Do not remove

J the hinge screw only loosen as shown
in Fig. 3.

Fig. 3
Loosen hinge screw (A) enough to
slide hinge bracket (F) located in

Bag #2 of your hardware kit under
screw washer (A).

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR. ROOF RACK raz1vo. GIJL4ERR1 | sHEET § oF 26




G OBI Intelligent Designs 2000 Cop.

Denver, Colorado 20211
RACHKS www. COBIRACKS. com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 4

Slide the passenger side hinge bracket
(F) marked with a stamped letter (P) or
label (indicating Passenger side) under

the hinge screw (A) as shown 1n Fig. 4
o and Fig. 5.

Fig. 5
Slide hinge bracket (F) as far inward as
possible and line up with cowling edge

(CE) and the outside windshield hinge
as shown in Fig. 5 and Fig. 6

Fig. 6
o Line up hinge bracket (F) with cowling
edge (CE) and windshield hinge screw

then fully tighten hinge screw (A)

shown in Fig. 5 using a 13mm box end
wrench

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK

rar1vo. GITL4ERR1 | SHEET § oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 7 Fig. 8

Fully open the passenger side Use a 15mm ratchet with long Remove body strap (S) passenger

door to expose the upper door extension and remove the upper  side located in Bag #2 of your

hinge as shown. hinge screw completely as hardware kit as shown above.
shown.

Fig. 11 Fig. 12

Shide body strap (S) in between the door and body as shown in Fig. 10 above. Thread into the upper strap hole
the same torx head screw removed earlier from the outside cowling as shown in Fig. 11.  Finger tighten loosely
at this time. With the driver side door still open thread in the upper door hinge screw as shown in Fig. 12
through strap (5). Pull down on body strap (S) in the direction of the arrow and finger tighten only at this time.

Fig. 13 Fig. 14 Fig. 15

Remove cowling screw as shown Place a piece of 1" x 1/2" black Install cowling as shown above using
above in Fig. 13 foam tape located in Bag #4 at only the top 2 screws. Leave out the
the location shown in Fig. 14 lower cowling screws as shown.
and Fig. 15

Installation Instructions for GOBI JEEP IL 4e 2 & 4 DOOR ROOF RACK rarrwo. GIJLAERR1 | SHEET 77 oF 26




G OBI Intelligent Designs 2000 Cop.

Denver, Colorado 20211
RACHKS www. COBIRACKS. com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 1a

Use a #40 Torx bit and remove the
4 outside driver side cowling cover
screws as shown in Fig. 1a and
Fig. 2a.

Pull the cowling cover away from
the side body as shown but take
care not to pull the wire harness
(WH) aggressively. Have a helper
hold the cowling in hand during the
installation process or hang gently
to the side.

Fig. 3a

While lifting slightly on cowling (B)
to expose hinge screw (A) slide a
13mm box end wrench over hinge
screw (A) and loosen. Do not
remove the hinge screw only loosen
as shown in Fig. 3a.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR. ROOF RACK razrwo. GITLAERR1 | SHEET Tq oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

' / ‘ Fig. 4b

| Slide the driver side hinge bracket

d (F) marked with a stamped letter (D)
or label (indicating Driver side)
under the hinge screw (A) as shown
in Fig. 4b and Fig. 5b.

Slide hinge bracket (F) as far inward
as possible and line up with cowling
edge (CE) and the outside
windshield hinge as shown in Fig. 5b
and Fig. 6b.

Fig. 6b

Line up hinge bracket (F) with
cowling edge (CE) and exposed
windshield hinge, then fully tighten
hinge screw (A) shown in Fig. 5b

{ using a 13mm box end wrench.

Installation Instructions for GOBIJEEP L 4e 2 & 4 DOOE. ROOF RACK rartwo. GITLAERR1 | sHEET Thor 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS
Fig. 7c Fig. 8c Fig. 9¢

Fully open the driver side door Use a 15mm ratchet withlong  Remove body strap (S) driver side

to expose the upper door hinge extension and remove the upper  located in Bag #2 of your hardware
as shown. hinge screw completely as kit as shown above.
shown.

Fig. 11c Fig. 12¢

Slide body strap (S) in between the door and body as shown in Fig. 10c above. Thread into the upper strap hole
the same Torx head screw removed earlier from the outside cowling as shown in Fig. 11c. Finger tighten in
place at this time. With the driver side door still open, thread i the upper door hinge screw as shown in Fig.
12¢ through strap (5). Pull down on body strap (S) in the direction of the red arrow and finger tighten only at
this time.

Fig. 13c Fig. 14c¢ Fig. 15c¢

Remove cowling screw as shown Place a piece of 1" x 1/2" black

Install cowling as shown above

above in Fig. 13c. foam tape located in Bag #4 at using only the top 2 screws. Leave
the location shown i Fig. 14c out the lower cowling screws as
and Fig. 15c. shown.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR. ROOF RACK razrwo. GITLAERR1 | SHEET 7¢ OF 26




G OBI Intelligent Designe 2000 Coxp.
Denver, Colorado 20211

RACHKS www. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

kY &

Install the Gobi light bar (B) passenger side first. Make certain to place a black
aluminum spacer (1) located in Bag #3 of your hardware kit, into the cowling recess

hole shown in Fig. 17.

Remove 1- M8 x 40mm button head Allen screw, 1- 5/16" lock washer and 1- 5/16" thick flat washer (S} located
in Bag #3 of vour hardware kit. Thread screw, lock washer and thick flat washer into light bar, black aluminum
spacer (1) then nto vehicle body as shown in Fig.18. Finger tighten only at this time.  As shown mn Fig. 18a
and exploded view 138c pull light bar (B) up or down, in or out to line up light bar flange (R} with hinge bracket
hole (F}). Insert 1- 5/16 -18 x 3/4" button head screw and 1- 5/16" flat washer into both flange (R) and hinge
bracket (F). Thread on 1- 5/16" flat washer and 1- 5/16" nylock nut and snug down in place. Leave some play

between parts for later adjustment.

rartwo. GITLAERR1 | SHEET 8 oF 26

Installation Instructions for GOBI JEEP IL 4e 2 & 4 DOOR ROOF RACK




G OBI Intelligent Designe 2000 Corp.
RACHS o, COBIRA CKS.dom
GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Fig. 19

As shown in Fig. 19 pull the driver side of light bar (B) over the driver side hinge bracket (F) shown by a red
arrow. Line up flange (R) of light bar (B) with hinge bracket hole (F) shown in Fig. 19 and Fig. 20. Insert
1- 5/16-18 x 3/4" button head Allen screw along with 1- 5/16" flat washer (S) located in Bag #3 into both
flange (R) and hinge bracket (F) holes shown in Fig. 20.

As shown in Fig. 21 and Fig. 22 thread on 1- 5/16" flat washer and 1- 5/16" nylock nut
onto the threaded end of screw (S). Use a 3/16" Allen wrench and 1/2" open end
wrench and tighten screws so that a small amount of play is left for parts to have
movement for later adjustment.

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK parryn. GITL4ERRIL | sHEET O oF 26




G OBI Intelligent Designs 2000 Coxp.

RACKS Demver, Colorado 80211

www, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 23

Remove from Bag #4 1- Brown adhesive backed Remove the passenger side light bar cover plate (G)
wear pad (P). Peel off the adhesive protective from your hardware box. Install the passenger side
cover and stick to the windshield frame directly cover plate (G) onto the light bar as shown in Fig. 24
under the rubber bumper of the light bar as shownin Using 1- 5/16-18 x 3/4" Allen head screw and 1- 5/16"
Fig 23 Apply the same procedure to the flat washer (3). Use another 5/16" flat washer and 1-

5/16" nvlock nut to secure in place. Snug down only at
this time. Leave some play between parts for later
adjustment.

Fig. 26

opposite side.

Remove the lower light bar ME x 40mm mounting screw (4) as shown in Fig. 25. Then slide cover plate (G)
over the top of lower light bar and line up holes as shown in Fig. 26. Thread back mounting screw (4) into
cover plate ((G) and lower light bar and leave finger tight only. Remowve 1- black aluminum spacer (1) from
Bag #3 and slip behind cover plate (G) as shown in Fig. 27 in the second cowling recess hole. Thread
another M8 x 40mm Allen head screw, 1- 5/16" lock washer and 1- 5/16" thick flat washer (5) located in
Bag #3 into cover plate (G) and snug down only at this time. Leave some plate for adustment.

Installation Instructions for GOBIJEEP L 4e 2 & 4 DOOR. ROOF RACK rarrwo. GITLAERR1 | sHEET 1) oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS
Fig. 27a

Hawve one person pull back on the top of light bar (B) towards the vehicle as shown in Fig. 27a by a yvellow arrow.  Eeep
pressure on the light bar until all installation instrucitons have been completed from Fig. 28 through Fig. 32a, at which time

the light bar can be released. Make certain cover plate (G) hook end (G1) 15 on the back of light bar base plate (L) as shown
in Fig. 28.

Fig. 31

se plate (L). Slide cover plate (3} in the direction of
the red arrow towards the front of the vehicle as much as possible as shown in Fig. 29, While holding cover plate () fully
forward tighten the M8 x 40min screw (4) using a Smm Allen wrench as shown in Fig. 29, Make certain cover plate () is
even with the body lines and fully tighten the second M8 x 40mm screw (3] as shown in Fig. 30. Proceed to the top of cover
plate (G} and fully tighten the 5/16" Allen screw {§) using a 3/16" Allen wrench and 1/2" box end wrench, shown in Fig. 31

Fig. 32 Fig. 32a
While one person is E‘.Efeff':‘;f' 1: .
, o Fig. 32a then loosen
still holding light bar screw (Sa). While
(B) back as shown someone is pulling
in Fie. 27a_ fully back on light bar as
s it shown in Fig. 27a
tighten the 5/16 strap (5) will drop
Allen screw and then fully tighten
nvlock mut (A)
shown in Fig 32 PASSENGER SIDE LIGHT BAR INSTALL COMPLETED

screw (5a).

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF BACK rarrvo. GITLAERR1 | sHEET 11 oF 26




G OBI Intelligent Designe 2000 Coxp.
~HG Denver, Colorado 20211
i www. GOBIRACKS.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

As shown in Fig. 27a and Fig. 30a remowve the driver side light bar cover plate (G) from yvour hardware kit
Remove 1- M8 x 40mm Allen head screw, 1-5/16" lock washer, 1- 5/16" thick flat washer (S) and insert into
cover plate lower right hand mounting screw hole as shown in Fig. 27a and Fig 29a. Add 1- black aluminum
spacer (A) behind cover plate (G) and over ME x 40mm screw shown in Fig. 29a. Shown in Fig. 27a and
Fig. 30a, slide cover plate () over the Jeep JL electrical access door (E). Position the upper slotted section
of plate () under the light bar lower plate (L) shown in Fig. 28a. At the same time position the upper section
(G1) of plate (G) over the light bar mounting plate (U) shown in Fig. 27a and Fig. 28a. Shown in Fig. 27a,
Fig. 29a and Fig. 30a thread the M8 x 40mm screw (S) into the vehicle body. Do not fully tighten, leave some
play for later adjustment.

Fig. 30a Fig. 31a

As shown in Fig. 31a, thread 1- ME x 40mm button head screw, 1-5/16" lock washer and 1- 5/16" thick flat
washer (5) and thread through mounting plate (G). Add 1- black aluminum space (A) behind mounting plate
() into the vehicle cowling recess hole then thread entire assembly into vehicle body using a Smm Allen
wrench located in Bag #3 of vour hardware kit. Snug screw down only, leave some play for later adjustment.

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK rarrvo. GITLAERRI |sHEET 1 1A oF 26




G OBI Intelligent Designe 2000 Coxp.
Denver, Colorado 20211

RACHS

GENUINE ACCESSORIES

www. GOBIRACKS.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 32a

-" : .

Femove from Bag 23, 1- 5/16-18 x 1" button head Allen screw and 1- 5/16" flat washer (5) and insert into
mounting hole (L) as shown in Fig. 32a.  Shown in Fig. 33a, thread onto the bottom of screw (5), 1- 5/16"
flat washer and 1- 5/16" nvlock mut. Use a 1/2" ratchet drive and a 3/16" Allen wrench supplied in Bag #3
to snug screw (5) in place. Leave some play for later adjustment.

Remove from Bag #3, 1- 5/16-18 x 1" button head Allen screw and 1- 5/16" flat washer (5) and insert down
into top plate (G1) and into upper light bar mount flange (U) as shown in Fig. 34a.  Thread on 1- 5/16" flat
washer and 1- 5/16" nvlock nut to the end of screw (S) previously installed. Shown in Fig. 35a, use a 3/16"
Allen wrench and a 1/2" open or closed end wrench and snug down screws only at this ime. Leave some
plate for later adustment.

Installation Instructions for GOBIJEEP JL de 2 & 4 DOOR ROOF RACK perrwo. GITLAERRI |sHEET 11b oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

As was shown in Fig. 32a and Fig. 33a.  Fully tighten =~ Have a second person pull back on light bar (B)
screws (5) shown in Fig. 36c above using a 3/16" shown by the yellow arrow in Fig. 37c.  Align top
Allen wrench located in hardware Bag #3 and a 1/27 plate (G1) with main plate (G) as shown in Fig. 36c.

ratchet with short extension. Apply at least 7 to 10 Then fully tighten all 3 screws (S) shown in Fig. 37c
Ibs. of hand torque. and Fig. 38c using a 3/16" Allen wrench and 1/2"
box or open-end wrench.

Fig. 38c¢ Fig. 39c Fig. 40c

While still pulling light bar (B) towards the rear of the vehicle as shown in Fig. 37c.
Fully tighten screw (S) on plate (G1) as shown in Fig. 39c and screw (S1) on the lower
light bar flange (F) as shown in Fig. 38c. Continue to fully tighten both screws (S)

shown in Fig. 40c. Use approximately 7 to 10 Ibs. of hand torque to tighten all screws.
Driver side light bar install is complete.

Installation Instructions for GOBIJEEP JL de 2 & 4 DOOR ROOF RACK parrwo. GITLAERRI |sHEET 11¢ oF 26




G OBI Intelligent Designs 2000 Cop.

Demver, Colorado 20211
RACHKS www. COBIRACKS. com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Clean the circled area of the body m Fig_ 33 passenger and driver sides with denatured alcohol. Remove the
passenger side isolator wear plate (I) from Bag #4 of your hardware kit.  Fit 1solator wear plate (I} as shown
m Fig_34 so that the wear plate slots line up with the vertical body and hardtop grooves (S).  Once you are

familiar with the fit remove the protective adhesive cover shown i Fig. 35 and press i place.  Apply the
same procedure to the opposite side.

Fig. 36

Apply the same procedure in Figures
33 thru 35 to the drivers side as shown
in Fig. 36.

,q . . . v o

Remove the rear driver wheel well splash guard (M) shown in Fig.37. Use an

8mm socket drive and remove all 3 screws shown in Fig. 38 and place aside as
shown in Fig. 39.

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK rarrwo. GITL4ERRL | sgEET 12 0F 26




GOBI

RACHKS

GENUINE ACCESSORIES

Intelligent Designe 2000 Coxp.
Denver, Colorado £0211
wuw, GOBIRACKS.com

Fig. 41

GOBIJEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Refer to Fig. 40 and
Fig. 41. Figure 40

represents the Jeep JL
#| Rubicon splash guard

support bracket (A) and
Fig. 41 represents the
Jeep JL Sahara and JL
Sport splash guard
support bracket (B). If
your Jeep JL has the
splash guard support
bracket (B) shown in
Fig. 41 continue reading
on to complete your
installation. If your
Jeep JL has the splash
cuard support bracket
(A) shown in Fig.40
skip to Fig. 55 and
continue with your
installation until
completed.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR. ROOF RACK rarrwo. GITLAERR1 | sHEET 130F 26




G OBI Intellizent Designs 2000 Coxp.
G Demver, Colorade 80211
i wuww. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Ry irer i s Remove passenger and -:_fl:iver side Remove splasi} guard support bracket
g T S splash guards by removing 3 screws (A) (8G) by removing 4 screws (B) as shown
P P shown above with an 8mm socket above using a 16mm socket

Fig. 45 Fig. 46 Fig. 47

Just above the rear splash guard support  Pull out on white tab (I¥) in the direction of the red arrow shown in Fig. 46 to
bracket yvou will find the rear bumper release connection lock then pull apart sensor connection (C) as shown in Fig. 47

sensor connection (C) shown abaove

Fig. 48 Fig. 49 Fig. 50

Pull out sensor connection (C) Eemove screw (E) above both driverand Remove 2 nuats (F) shown above
anchored to body as shown above and passenger sides using a 10mm socket both driver and passenger sides using
allow to hang freely drive a 16mm socket or box end wrench

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK rarrwo. GIJL4ERRI1 | sHEET 14 oF 26




GOBI

RALCHS

GENUINE ACCESSORIES

Intellirent Designs 2000 Coxp.
Denver, Colorado 80211
wunw, GOBIRACKS.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Tilt rear bumper ends (G) down towards the floor
then pull back and remove the rear bumper as
shown above. Refer to Fig. 58 and continue the
Gobi rack installation.

Installation Instructions for GOBI JEEP IL 4e 2 & 4 DOOR ROOF RACK

rrrr 0. GITL4EEER1

SHEET | & oF 26




G OBI Intelligent Designe 2000 Coxp.
K Denver, Colorado 20211
ik www. GOBIRACKS.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Remove rear bumper driver side end cap (E) shown in Fig. 52.  Use the same 8mm drive as used in Fig. 38
with a 6" extension and take off all 3 screws (S) shown in Fig. 53, Place bumper end cap and screws aside
for later installation.

Remove rear wheel well splash guard support (SGS) shown in Fig. 55, Use a 16mm socket drive and take off all
4 screws (9) shown in Fig. 56.  The process applies to Jeep JL. Sahara and Jeep JL Sport models. Place all
screws and splash guards support bracket aside for remstallation after the Gobi tower mstallation.

Fig. 58 Fig. 59

Use denatured alcohol and clean the circled area outside and inside of the body as
shown in Fig. 58 and Fig 59

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOE. ROOF RACK raz1vo. GIJL4ERR1 | sHEET 1§ oF 26




G OBI IntelliFent Designs 2000 Coxp.
Denver, Colorado 80211

RACHKS wuww. GOBIRACK S.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

Remove the Driver side tower (D)

indicated by a stamp or label located on
the underside or top of the tower shown
in Fig. 60. Located in your hardware Shde Tower (D) up onto the rear body lip as shown i Fig 61
and Fig 62 with pinch plate (F) positioned on the mnside of the
body. Do not remove the masking tape as the tape is holding

P | == the pinch plate in the correct position. Fic. 63
ontact must be mads between body Ig-

box.

pansl {H} and top of horseshos=
shapad tower support (HI)

Make certain tower (D) is in line with the rear body seam (5) as shown in Fig. 62 . Also "VERY
IMPORTANT" make certain the top of tower horseshoe shaped support (H1) shown in Fig. 61, is positioned
as far up on the body and body lip as possible shown in Fig. 63.  Fully tighten all 3 screws (D1) at this time
using a 9/16" box end wrench.

Installation Instructions for GOBI JEEP IL 4e 2 & 4 DOOR ROOF RACK rartwo. GITLAERR1L | sHEET 17 oF 26




G OBI Intellipent Dezigns 2000 Coxp.
Denver, Colorado 80211
FH G www.COBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 64

Remove nut plate (E1) shown in Fig. 64 from your hardware kit. Slip the
nut plate end (N) in the slot above Tower (D) as shown in Fig. 65.

: = screw (S1) and place it from the top down into the

until t}:l;lrﬂ SIDH;I? end (Y);ail be slotted end (V) of nut plate (E1) and lower body

seen through the square hole panel (H) as shown in Fig. 71. Make certain that

shown in Fig. 66. the square head of the carriage screw (S1) is seated
into mut plate slot as shown.

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK rartwo. GITL4ERR1 | sHEET 18 0F 26




G OBI Intelligent Designs 2000 Corp.

RAGKS Denver, Colorade 80211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 68

Femove from your hardware kit tower support plate (E2) Remove from vour hardware kit support plate (E3) as
and set in place as shown in Fig. 65. Use 1-3/8" flat shown in Fig. 69. Place (E3) on top of nut plate (E1) and
washer and 1- 3/8" nylock nut located in Bag #3 and thread set a 3/8-16 x 1-1/4" camiage screw (S1) up through nut
onto screw (51) previously mstalled m Fig. 67. Snug plate (E1) then through support plate (E3) as shown in
down using a 9/16" ratchet with 10" extension. Leave Fiz.70. Thread on 1- 3/8" flat washer and 1- 3/8"
enough play for adjustment. Place another 3/8-16 x 1-1/4" A

L : nvlock nut on top as shown in Fig. 70. Snug down but
camage screw (52) through support plate (E2) and into Leave enough play for adjustment.
tower arm (D1) as shownin Fig. 60. Thread on 1- 3/8" flat

washer and 1- 3/8" nylock nut shown in Fig. 60 using a
9/16" box end wrench. Leave enough play for adjustment.
Do not fully tighten. a

Eemove from Bag #3, 1- 3/8-16x
1-1/4" carriage screw (S2) and place
through support plate (E3) then
through tower arm (D2) as shown in
Fig 70 . Thread on 1-3/8" flat
washer and 1- 3/8" nylock nut and
snug down using a 9/16" box end
wrench. Leave enough play for
adjustment.

While another person is applying
pressure to the tower against the
vehicle body at the top pivot ring
(PR) shown in Fig. 72 Fully tighten
all remaining tower assembly screws.
Apply the same procedure to the
opposite side.

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK raz1vo. GITL4ERR1 | SHEET 19 oF 26




G OBI Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 80211

wuw. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 71

Figure 71 shows an
underside view of a
properly installed Gobi
rear tower assembly.

Reinstall rear bumper end caps or
entire rear bumper depending on the
style rear bumper you have. Figure
72 represents a properly installed
and completed Gobi rear driver side
Tower (D) and rear bumper.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR EOOF RACKE rarrwo. GITLAERR1 | sHEET 2() oF 26




G OBI IntelliFent Dezigns 2000 Coxp.
Demver, Colorado 80211

RACKS www, GOBIRACKS.com

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS
Fig. 73 Fig. 74

As shown in Fig 73 place a protective cover over your jeep top to prevent any damage. With the help of others set the Gobi
rack basket (A) on top of the Jeep JL as shown in Fig. 74.  Align the front of the roof rack basket with the back of light bar (B)
as showninFig 75. Use 4- 5/8-16x 1" carnage screws (52) two per side. Insert each camage screw (52) into the front of the
light bar then into the roof rack as shown in Fig. 75.  Becure in place with a 3/8" flat washer and 3/8" nylock mut and snug
down using a 916" box end wrench. Do not fully tighten leave some play for adjustment.

Fig. 76 Fig. 77 Fig. 78

Set a spacer block apprommately 3 inches tall under the rear of both ends of the roof rack as showninFig. 76.  Take the
passenger side rear suppott bar () shown i Fig. 77 and place under roof rack and let rest on roof top over protective cover.
Alizn the lower end flange of the rear support bar with the passenger side rear Tower (1Y) as shown mn Fig. 78,

Fig. 79

Remove from Bag #3 1- 1/2-13 x 2-1/2"
hex bolt (83), 2-1/2" flat washers (S4),
2- black nylon shoulder washers (S5)
and 1- 1/2" nylock nut (S6). Place
them in the order shown in Fig. 79 and
snug down only using a 3/4" ratchet and
box end wrench. Do not fully tighten
at this time.

d

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOE. ROOF RACK rartwo. GITL4ERR1 | sHEET 2] oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS
Fig. 80 Fig. 81

&7

A

.h’ AJS

Eemove 2 position plates (F) from Bag =3 and place over rear rack mounting plate (B} and over rear passenger support arm
{C) as shown inFig. 80. Remove 4- 3/8-16 x 1-1/4" hex head screws, 8- 3/8" flat washers and 4- 3/8" nylock nuts (37) from
Bag #3. Insert4- 3/8-16x 1-1/4" hex head screws 4- 3/8" flat washers (57) through position plates (F) then through mounting
plate (E) and through passenger support bar (C) shown in Fig. 81. Use 4- 3/8" flat washers and 4- 3/8" nivlock nuts and snug
down in place from the underside using 2- 916" box end wrenches. Do not fully tighten at this fime. Leave some play for

Fig. 82 Fig. 83

adjustment.

1
dE‘

Adpust rear support bar (C) in the d:rer:u:rn of the red arrow as far as possible in the slots of
support plate (R). Then tighten mounting screw marked (57) using 2- 9/16" box end -
wrenches.  Adjust rear support bar (C) by pivoting forward or rearward so that it lines up |
with the inner roof rack shown by 2 blue lines (K) indicating the inside tube edge of the '
rack and inside tube edge of rear support bar (C) shown in Fig. 82. Once aligned fully
tighten all remaining screws (57) using 2- 9/16" box end wrenches.  Fully tighten Pivot
screw (PS) at the bottom flange of support bar (C) shown in Fig. 83 and Fig. 88 using a
3/4" ratchet and box end wrench. Apply the same procedure to the opposite side.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR ROOF RACK rerrwo. GIJLAERR] | sHEET2 2 oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 80211

wuww. GOBIRACK S.com
GEHUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

Fig. 89 Fig. 90

After the rear support bars (C) have been fully installed and tightened as shown in Fig. 89 vou will notice that
the rear isolator screw rubber pads (RP) are not contacting the isolator wear plates(I). Turn each isolator
screw cloclkowise using the black plastic knobs until they contact the black isolator wear plates (I) both

driver and passenger sides. You may need to unscrew jam nut (J) shown in Fig. 89 and Fig. 90 to turn the
isolator screw clockwise. Do not apply pressure to the isolators at this time.

Fig. 92

Pull out on the rear passenger support bar in the direction of the red arrow each time vou are turning the isolator
screw inwards or clockwise. Pulling out on the rear support bar during each turn malkees it possible to easily
add pressure to each isolator screw. Turn each isolator screw clockwise at least 3 to 4 full turns both the
driver and passenger sides. This will apply pressure to the roof rack support preventing wobble and sway.
After both isolator screws have been tightened use a 1/2" open end wrench and tighten each jam muat (J) as
shown in Fig. 92 approximately 1/2 twrn.  This will prevent the isolator screw from coming loose during
transport.

Installation Instructions for GOBIJEEP JL 4e 2 & 4 DOOR ROOF FACK rarrwo. GITLAERR1 | sHEET 23 0F 26




G OBI Intellirent Designs 2000 Coxp.
Denver, Colorade 80211
e wunw, GOBIRACKS.com

GENUINE ACCESSORIES

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1

INSTALLATION INSTRUCTIONS

hiake sure both the passenger and driver upper isolators rubber pads (EP) are sitting approxmately 12" or more away
from the hard top as shownm Fig. 93 and Fig. 35. Remove the upperisoalator plates {IF} passenger and drver from Bag
=4 Place the driver side isolator plate (IF) as shown in Fig. 03 over the roof top gutter and fit the tab end (1) into the
groove of the hard top shown best in Fiz. 93, After vou have become familiar with the fit, clean the area of the hard top
where the isolator pad will sit with denatured alcohol. Eemowve the protective adhesive back cover as shown m Fig. 94
then place the isolator wear plate (IF} back in place onto the hardtop over the gutter and set tab (T) into the groove of the
hardtop shownm Fiz. 93, Apply the same procedure to the opposite side.

Fig. 96 Fig. 97 Fig. 98

After both the passenger and driver side isolator plates (IP) have been installed. adjust both isolator screws (RP)
so that they contact each isolator plate as shown i Fig. 96,  Apply some pressure to each isolator screw onto the
isolator plate. Serious pressure to each isolator is not necessary. The purpose of the upper isolator screws (RP)
is to prevent upper rack sway when heavy cargo is present.  Once both 1solator screws have been adjusted, fully
tighten both isolator jam nuts (J) as shown in Fig. 96 and Fig. 97 using two 1/2" opened end wrenches. Refer to
Fig. 98 and move to the front of the roof rack. Lift up roof rack (A) as shown by the red arrow as much as
possible. Then fully tighten all four 3/8-18 x 1" carriage screws (52) using a 9/16" box end wrench both
passenger and driver sides. Check all screws over entire roof rack to make certain they are propertly tightened
and secured. Refer to page 10 Fig. 26, when the Gobi Jeep JL roof rack is completed yvou may notice a gap
between the rubber bumper (RB) and the windshield frame. This is to be expected after the entire assembly is
fully tightened. Ower a short period of time the Gobi rack will become settled in place and the gap between the
rubber bumper and windshield frame may become smaller or just stay as is, this is normal.

Installation Instructions for GOBIJEEP IL 4e 2 & 4 DOOR ROOF RACK rarrwo. GITLAERR1 | SHEET 24 cF 26




GOBI/

RACHS

GEHUINE ACCESSORIES

Intelligent Designs 2000 Coxp.
Denver, Colorads 80211
wuw. GOBIRACKS.com

Recommended Attachments for soft top use:

C) "Sun Roof Insert" part #GJJLSRI

GOBI ROOF RACK INSTALLATION COMPLETED

GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK GEN 1
INSTALLATION INSTRUCTIONS

CAUTION: # DO NOT REST THE GOBI ROOF RACK ON THE REAR BUMPER AS DAMAGE CAN RESULT

% EXCESSIVE SPEEDS OVER ROUGH TERRAIN WITH OR WITHOUT A FULLY LOADED ROOF
RACK ARFE NOT RECOMMENDED AS DAMAGE CAN OCCUR TO ROOF EACK OR VEHICLE.

A) Gobi "Mini Wind deflectors” part #GIW-MWD if no forward LED lights are installed
B) "Quick Release" part #GJJLSK 1SRIL for easy and quick release of the roof rack

D) "Soft top protective rubber trim for roof rack noise suppression” part #GJILEX103BT
E) "Soft top protective rubber trim for sun roof insert noise suppression” part #GJLSEIX103BT

To purchase these or other Gobi attachments please contact a Gobi online dealer or Gobi Racks direct at
1-720-479-9372 or e-mail to sales@gobiracks.com Thank vou for vour purchase

Installation Instructions for GOBI JEEP JL 4e 2 & 4 DOOR ROOF RACK

preI w0, GITLAERER1

SHEET 250F 26




INTELLIGENT DESIGNS 2000 CORPORATION

Thiz lmiled one year wanmnly cowers QMUY Inlelllgent Deslgns 2000, Soporation (TIDE0007) products, Pleass rayview (e lerms and condilions of Me Imited
magtrrenlins b,

LIMITED ONE YEAR WARBANTY

L8l warcanties and representalions, excepl as sel oul bdow are hereby disctalmed, Encluding Tiness for the purchas-et s inbended use of purposse
amd merchantability), all products being sold AR 18, without warranty beyond that made heredn , with the purchaser assuming: 1) e enBre risk as to
e quallty and performance of fe g oods, 21 the cost of any repairs nok covered herein,

Iretalbgunt Darsignes 2000 Coomgora®on warant s as @mdad beeabn, G e oogasl pordsaser Bal it peodact which barae been progecly insdailod por proskdid
nalnclions arg frod rom dalects in maerial andon sorkmanship, Al Intedigenl Designg S000 option, Ehe purchEsanrs remedy Mansunder shall be limilad Lo repain
or raplaosmant o delenies pals et 1o e plEos of perchase o to ielbgent Desigies 2000 & e purcass s apuss,

I berlliggeed. Do s 2000 wanmandy, a s boeein, shisll only e efeativie while e acginal gorotasar awng W sohiada an whie e prodoe ar prodac s wags
inelzlied @nd =hall not apaly il e pre<iuct has been ramoved rom e off ginal vehice, InleSgent Dasigns 2000 warranly is veid # any damags Lo tha
procuct or products ks due o misusa, abuss, negled, acddenl, iImproper msialiaiicn, or contack weth on=road o cfl-read lagams, produc modilication,
Improgar o ingdageate maintanance of any usa contrary (o ihe insiruclons acsempanying tha praduct, taliigent Desiges H00 waranty only cowars e
aceed of e g boctivg parl 2l nefl the eos! of romoeal, instalkation, and pabmling or adhar inaklenlal ar consope eolisd changs ar ceimages, o porsceal njury
alomagas, and @S nol corear usa o any proedect oo meEng vehicles nkallipent Desig ns $000's wamanly |5 nob mmnstaraiele irom (ha arkinal purchasar,

THIS LIMITED WARRANTY DNOES NOT APPLY TO:

1. Damages of probiames tat reeull fnom svpaing. instgleSon, maiianance, of soparate system componan s

2, Damagas or proffams that rasull o misuses, atsesa, opemation auldos smeronmental specilicalions or conlrary io the regeframents of precautions in by
nsallaticn Instnecticns, accidan, ghtning Skas of oher natural causas, unaulberizad modfcation o alaraben, meores aledrical carrant o yollage, olhar
crmuss il arssng ool of dedied e maleial or wosenanship

&, Theradera, he cosl of repar or replacemant of s ch defective product shall e borne D! the cuslom ac

lxassuna proshict qualily. Inkalbgant Caskins 200 raserms the right o change preduct desins, matarkals spectications and tinkshes with oot prier nofl oa o
st oimere. (rdelligent Desl gns 20000 waranly gheaes you spediis legal dgnts and you may also have olher rghts, which varg Trom stabe (o state. Saome slabes do
naok Bmkalions on hos long an implied sarranty sl=, 50 ha abews ImBatonss may nof apply b yod. Adso, some stales oo nokb allow e exdusion o limbatien of
iegiclantal of consacquential damages so Ihe shove EmEalions of exclssions may no apply o yol IntsEligent Dasigns 2000 reserss Me dol o discontinue
i e and subsiole pruness or prodca o e remecies olher han hosa Estad in fha ImEgcd warranty [or fnsa gsconfinan prodcts

FIIES WAR KN 15 1M 1LTEL OF AN CFTTIER WAR AN TIES, IXFRESS €3 DM PLIEL, ENCILU TG W TTIOL T LIMTENE RN, ANY WAR RANTY O
MAERCHAN T ALY Crb2 TTENESS VOB A BVRTICULAR PURROSLE TOCL TR EXTES L ANY IMPLIED WARKANTY s RECHIRED Y LA 1T 1S LIMTELD
P DURATICMN T THE EXERESS WK EAN Y PERICE ABOCE, INEELL LN T IESEC B 20 OB PORATICN S GO BRATES USA WILL NOEL 1BE
LATELE: FER AR CORNSOLU RN T, IMEIREC L, R IRCIVER AN DAMUAGES O ARMY KN IROLU TR LESS OF REAVENUES QO FROFTTS, M
ADONMEETT AN WITTE VIFE FRODUET 1S, SOE S TATES 10001 ALLAY LINTTREIC 208 LM DI LN AN I PLIED VAR RANTY LASTS OR THE
FCLLARN LI I CHEN AL OB COOMSECLER TIAL DM LACES S0 PR ANCAT LIRTER TR R BRCLUSIONS BT NI AFFLY T s

REQUESTING WARRANTY COVERAGE

Fox this wamarty o De sfle-gha, s Srangly recom mancad thad tha perchaser completas and miums Ihe w@arranty ragisiralion (o inlaligant Dedgns A #lhin
ten daye of ke dale of purchase. Repiecement garts Gan e oblained by releming he pan along will grod of purchase. Wananty dalis aannol be deteaminesd
urmlil s marchandsa s received ond Inspacted. Retums made o Intelligent Designs 2000 will not be accepbed wishout prior aethorization from

b tedligent Designs 2000, Thiz included buk isnod limited to =8 shipping costs and all other ind dental costs 1o be paid Wy e customer, Please call We
customer service department at the mumber below,

LIMITED LIABILITY WARRANTY
algent Dasigns 2000 Corpoadlon warrants (ks prodiect o be fras of origingd defacts In matariafs of workmanshie a6 kong as the ongnal punchaser
cwTes e motor vehédle on which il [&inslallad. This MI’I‘EI‘IL}' A0es Nl Cover Uﬂl'l'ﬂﬂﬂ I'Gﬁilﬂlﬂg Irom acoidend, misuse of abuse, I'IEQHDL laok of
radsmanl care, of lnproper instalation. The Company wil repalr of raplace, ab k5 cpdlon, amy g covarned by this eamanly Mt besonas
dediecdivie, THis i a penta-only warranly and sach repair of replacanmenl shall Do e Comgany's sade oEgalion aid e csiomans sole remedy 1or a
e iy precscducl. Theo Congeiny st e nn iy e poesoes injuey, gropeety ckimagr, iesontsal, or eomseduential (ssnasges of @y kind o
nature. THIS FORESOING WARRANTIES ARE EXCLUSIVE AND B LIEL) OF ALL OTHER WARAANTIES, EXFRESS OR IMPLIED, AND THE
COMPANY LHSCLAIMS ALL OTHEH WAHRANTIES, EXFHESS OF IMPLIEC, INCLUDENG, WITTHOUT LIBITATEON, ARY IMPLIED WARRANTY
OR MERCHANTABILITY OR FITMESS FOR & PARTICULAR FURFOSEE,

Toobtain warranty sanics, ralurm this porson be neligent Desigs 2000 Cofporation wilh a proofl of purchass (o me aodmaes helo,

Flease e,

First Neme Last Mame
Address Cily
E-mall Stale
Phane Mumbar Zip Gade

micdligenl Cesignes 2000 Comporalion 14308 E S Flace Bnil E - Aurega, OOE0011 - 720 478 85732




	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 01
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 02
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 03
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 04
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 05
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 06
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 07
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 07a
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 07b
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 07c
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 08
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 09
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 10
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 11
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 11a
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 11b
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 11c
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 12
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 13
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 14
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 15
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 16
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 17
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 18
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 19
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 20
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 21
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 22
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 23
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 24
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 25
	Gobi Jeep JL 4e 2 & 4 door roof rack install Page 26

